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Part A: Grammar
Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3),
and (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet.
1- As a father Jack set a wonderful example for his children to follow, ... ?
1) does he not 2) doesn’t he 3) didn’t he 4) didn’t they
2- Nobody knows where exactly Christianity was born, ... ?
1) doesn’t it 2) don’t they 3) do they 4) wasn’t it
3- Those who make predictions of doom and disaster are not popular, ... ?
1) are they 2) are those 3) aren’t they 4) don’t they
4- Rarely can people learn during their sleep by listening to tape recordings, ... ?
1) can’t they 2) can they 3) do they 4) don’t they
5- I suppose you have made sure the firm is competent to carry out the work, ... ?
1)don’t1 2) have you 3)dol 4) haven’t you
6- If our delegates hadn’t shown themselves eager to comply, those from other countries ... .
1) would be, too 2) wouldn’t have either  3) have had, too 4) hadn’t either
7- In human body, the bones contain phosphorus compounds, and the brain ... .
1) does, too 2) does either 3) so does 4) is, too
8- He put on his best clothes for the job interview and ... .
1) so does his friend 2) his friend did, too 3) his friend didn’t 4) neither does his friend
9- By the end of the month, I had hardly any money left, and ... .
1) she did neither 2) she didn’t either 3) neither she did 4) either did she
10- Let’s go for a walk before having dinner, ... we?
1) do 2) shall 3) should 4) will
/
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Part B: Vocabulary
Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3)
and (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet.
11- His grandfather used his money to ... the welfare of his fellow human beings.
1) adore 2) promote 3) perform 4) devote
12- The TV is almost 18 years old and not worth having it ... . We should buy a new one.
1) organized 2) protected 3) distinguished 4) repaired
13- There has been a ... increase in the number of people who get university degrees in recent years.
1) scientific 2) suspicious 3) significant 4) surprised
14- The professor ... that all the students who want to attend the class must arrive on time.
1) emphasized 2) challenged 3) concentrated 4) annoyed
15- All the students in the class have to ... their own scientific experiments.
1) conduct 2) possess 3) progress 4) inspect
16- The brain loses 1000 cells per day, which are not ... , and yet memories are maintained.
1) injected 2) transformed 3) replaced 4) organized
17- The committee was ... in 1986 and it is still active in almost all the countries of the world.
1) launched 2) established 3) produced 4) collocated
18- The new dormitory will be able to ... an additional 200 students.
1) accomplish 2) allocate 3) approve 4) accommodate
19- In order to live a long, healthy life, a person should ... smoking.
1) look up 2) give back 3) look after 4) give up
20- As a result of recent political issues, oil prices are ... to increase by more than twenty percent this year.
1) expanded 2) expected 3) exported 4) exploded
21- After putting it off three times, we finally ... to have a holiday in Greece.
1) obtained 2) managed 3) gained 4) assissted
22- The river is quite ... here, but as it gets near the sea, it begins to widen.
1) narrow 2) flooded 3) shallow 4) strengthened
23- The man who was caught in the crime scene ... to give any information to the police.
1) refused 2) informed 3) pretended 4) indicated
24- 1 see no reason why you should ... in their quarrel. It is none of your business.
1) disturb 2) interfere 3) examine 4) notify
25- Short-term memory ... about 15 to 30 seconds, such as after looking at a telephone number.
1) rests 2) lasts 3) wastes 4) costs
\ /
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Part C: Word Order

Directions: Choose the sentence with the best order for each of the following series, then mark the correct choice on your answer

sheet.

26-
1) Despite being Alex, John’s son was a man young, talented extremely devoid of originality.
2) Originality was devoid of John’s son, Alex, despite being a talented young man extremely.
3) John’s son, Alex, was an extremely talented young man despite being devoid of originality.
4) A young man, extremely talented was devoid originality despite of being John’s son, Alex.
27-
1) Found in supermarkets, the usual array of cleaners regarded as the most difficult ink stains commonly will not give
in to stains to remove.
2) Commonly regarded as the usual array of cleaners, ink stains found in supermarkets will not give in to the most
difficult stains to remove.
3) The most difficult stains to remove commonly, ink stains will not give in to the array of found in supermarkets
cleaners regarded as the usual.
4) Ink stains, commonly regarded as the most difficult stains to remove, will not give in to the usual array of cleaners
found in supermarkets.
28-
1) Before the invention of the clock, people had to rely on the celestial bodies to tell time.
2) Before being invented the clock, people had to rely at the celestial bodies telling time.
3) Before inventing the clock, people had to rely upon the celestial bodies telling time.
4) Before invent of the clock, people had to rely at the celestial bodies to tell time.
29-
1) An amount of the copper sulfate used in the experiment depends on the intensity of the hot.
2) The amount of the copper sulfate is used in the experiment depends to the intensity of the heat.
3) The amount of the copper sulfate used in the experiment depends on the intensity of the heat.
4) An amount of the copper sulfate used in the experiment depends to the intensity of the heat.
30-
1) Airport X-ray devices must have designed more carefully in addition to detect the more complex forms of
explosive materials now produced.
2) Airport X-ray devices must be designed more carefully in order to detect the more complex forms of explosive
materials that are now produced.
3) Airport X-ray devices must design more carefully in addition to detect the more complex forms of explosion

materials that are now producing.

4) Airport X-ray devices must be designed more carefully in order to detect the more complex forms of explosion

materials now producing.
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Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations by choosing
one of the choices (1,2,3) or (4). Then mark the correct choice on your answer sheet.
A: I caught Sam making personal phone calls on the job again.
B: That does it! I’'m firing him right now.
A: Wait! You can’t ...31... now. He’s in a desperate need for money.
B: Don’t tell me he’s ...32... again!
31-1) give him the axe 2) cross his path
3) take him for granted 4) promise him the moon
32-1) in the dark 2) out of his mind 3) out of shape 4) in the red
A: Your rent is due in two weeks! If I were ...33..., I’d be trying to apply for a job today instead of going to the
movies.
B: You’re right. Starting tomorrow, I’m ...34... . But for now, can you lend me some money? I’ll pay you back as
soon as I get a job.
A: ...35...! I’'m not lending you any more money!
33-1) in your shoes 2) in a rush 3) in advance 4) in a nutshell
34-1) taking a back seat 2) going on a diet 3) dragging my feet 4) turning over a new leaf
35-1) I beg to differ 2) You’re telling me 3) This won’t hurt 4) That’s out of the question
A: Pardon me, officer.
B: Yes?
A: We’re ...36... the big department store around here.
B: I’m afraid you’re headed in the wrong direction.
A: But we were told it was somewhere here.
B: Yes, it is, but I ...37... you’re walking the wrong way.
A: Oh, I see. Thank you very much.
B:...38....
36- 1) looking after 2) looking into 3) looking up 4) looking for
37-1) assumed 2) afforded 3) thought 4) meant
38-1) Don’t mention it 2) It’s wonderful 3) By all means 4) What a pity
A: Why are you so late getting here?
B: Oh,I...39... my cousin Carl, and we stayed and talked ...40... .
39-1) ran into 2) took part in 3) kept up with 4) got along with
40- 1) back and forth ~ 2) by rights 3) all of a sudden 4) for a while
\ /
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Part E: Cloze Test

Directions: Read the following passage and decide which choice (1,2,3) or (4) best fits each space. Then mark the correct choice

on your answer sheet.

Suggestopedia is the name for a language teaching methodology ...41... in the 1970s by the Bulgarian
psychologist Georgi Lozanov. The term comes from the words suggest and pedagogy, or teaching. The
methodology rests on the belief that people have great mental abilities that they don’t ...42... use. However,
under the right conditions, these abilities can be opened up and people can learn great amounts of new ...43....
The key to opening up people’s mental powers lies in achieving the right mental state- that is, they need to feel
happy, relaxed, and open to new ...44... . In 1964, Lozanov ...45... a famous experiment with 14 language
students at the University of Sofia to ...46... this point. According to the ...47... results, the students were able
to ...48... 1,000 new French words at 90 to 100 percent accuracy in a single session.

For students to achieve the ...49... mental state for learning, they must be both physically and emotionally
relaxed. Physical relaxation ...50... by comfortable seating and an attractive environment. The teacher has an
important ...51... in helping students to relax emotionally. The teacher’s positive attitude makes students
...52... that they are bound to succeed. ...53... the suggestopedia-trained teacher joins playfully in many
activities and never criticizes a student, he or she is seen more as a friend. But, the teacher’s ...54... as an
authority is also important to learning. Why? Because students are more ...55... to remember information
that comes from someone they consider an expert. In a sense, for students to become suggestible, it helps if

they look upon the teacher as a parent and themselves as a child.

41-1) developed
42- 1) emotionally
43- 1) prospects
44- 1) divisions
45-1) conducted
46- 1) handle
47-1) artificial
48- 1) perform
49- 1) absorbing
50-1) is provided
51-1) attempt
52-1) feeling
53-1) Although
54-1) form
55-1) informed

2) to develop
2) ordinarily
2) contrasts
2) departures
2) consulted
2) expand

2) traditional
2) memorize
2) oppressive
2) providing
2) request

2) to feel

2) Since

2) role

2) formal

3) developing
3) importantly
3) materials
3) experiences
3) conflicted
3) follow

3) published
3) operate

3) imitative

3) provided

3) progress

3) felt

3) While

3) deal

3) likely

4) which developed
4) recently

4) accounts

4) impressions
4) confronted
4) prove

4) offensive
4) propose

4) ideal

4) to provide
4) function

4) feel

4) Unless

4) pull

4) engaged
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Part F: Reading Comprehension
Directions: In this part of the test, you will read three passages. Answer the questions about the passages by choosing the best
choice (1,2,3) or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1
Professor Mahmood Hesabi was born in Tehran in 1903. At the age of four his family moved to Syria and at

the age of seven they moved to Beirut. He started his education at a French primary school. At the same time,
his mother started teaching him Persian literature and religious education. He memorized Quran and Hafez
poems. After graduating from high school he prosecuted his studies at American University of Beirut. He
received his BA in literature at the age of 17, and at the age of 19 he got his BA in biology. Then he obtained a
degree in engineering. He also studied medicine, mathematics and astrology. Dr. Hesabi received his PhD in
physics from Sorbonne University at the age of 25. In 1947, he published his classic paper on “Continuous
Particles”. Following this, in 1957 he proposed his model of “Infinitely Extended Particles”.

He was chosen as the man of science in the world in 1989. He could speak five living languages of the world.
He was the only Iranian student of Professor Albert Einstein and also his favorite student. During the
congress on “60 years of physics in Iran” the services rendered by him were deeply appreciated and he was
called “The Father of Modern Physics in Iran”. Dr. Hesabi passed away in Geneva, aged 89 and as he wished,
he was buried in his parents' hometown, Tafresh.

56- Which of the questions is the first paragraph concerned with?
1) How did Dr. Hesabi propose his theory of “Infinitely extended particles?”
2) Why were Dr. Hesabi and his family made to move to Syria and then Beirut?
3) Where and when did Dr. Hesabi achieve his scientific degrees one by one?
4) What are Dr. Hesabi's services and inventions?

57- It is concluded from the passage that Dr. Hesabi has had scientific studies on all of the following fields

EXCEPT ...
1) Living organisms 2) Literature
3) Humans’ body 4) Earth's structure

58- Why was Dr. Hesabi called “The Father of Modern Physics in Iran” during the congress mentioned in the
passage?
1) Because he was the only and the favorite student of Albert Einstein.
2) Because he was a graduate of an important university.

3) Because of proposing his famous theory called “Infinitely Extended Particles”.

4) Because of his scientific works and the services he gave to his people and nation.
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59- What does the word “this” (underlined in the passage) refer to?
1) Classic paper
2) Model of “Infinitely Extended Particles”
3) Proposing his model of “Infinitely Extended Particles”
4) Publishing his paper on “Continuous Particles”
60- Of the words below, which one can replace the verb “prosecuted” in paragraph 1?
1) left 2) continued 3) focused 4) suggested
PASSAGE 2

Communication is a process by which meaning is assigned and conveyed in an attempt to create shared
understanding. Gregory Bateson called it “the replication of tautologies in the universe”. This process, which
requires a vast repertoire of skills in interpersonal processing, listening, observing, speaking, questioning,
analyzing, gestures, and evaluating enables collaboration and cooperation.

Moreover, the sheer number of people in a group affects the amount of communication. Consider the
difference between communication between two friends and communication in a group of five people. When
two friends talk, there are two people sending and receiving messages. In a group of five, there are five people
doing the same thing. Each idea that is expressed must be understood by four others, who may also choose to
respond. Consequently, the greater number of people in a group, the fewer contributions any individual may
make.

Because there are disadvantages to large groups, you might assume that small groups would be the most
effective. However, groups can be too small as well as too large. With too few members, a group has limited
resources, which eliminates a primary advantage of groups for decision making. Also, in very small groups,
members may be unwilling to disagree or criticize each other’s ideas. I believe that five to seven members is
the ideal size for a small group.

61- The word ‘Consequently’ in paragraph 2 is closest in meaning to ... .

1) Suddenly 2) Strangely 3) In the beginning 4) As aresult
\ /
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According to the passage, small groups ... .

1) are always more successful than large groups in terms of decision making
2) can have some disadvantages as well

3) express their criticism more freely than large groups

4) are usually unable to make a decision at the end of discussions

The author of the article suggests that ... .

1) the number of people in a group doesn’t really matter

2) large groups are always superior to small groups

3) the ideal size for a small group should be five to seven

4) small groups are better as members of them have a chance to criticize each other
We conclude from the reading that in large groups ... .

1) there is always a chaos at the end of each discussion

2) before a decision is made everyone has to express their ideas individually
3) everyone is free to express their ideas as much as they want

4) there is less opportunity for each person to speak

65- “All the music or plays, etc. that you can do or perform or that you know” is the definition of which word in

paragraph 1?

1) replication 2) tautology 3) collaboration 4) repertoire

PASSAGE 3

Light travels in waves. The light's wavelength determines its color. Short wavelength light, for example,
appears blue, and long wavelength light appears red. When light strikes particles that are larger than its
wavelength, the light's path may be altered. When light strikes particles that are smaller than its wavelength,
the light continues to travel unaffected. The atmosphere contains many particles and gases, mainly nitrogen

and oxygen.
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Sunlight is composed of light of many different wavelengths. Longer wavelength light appears red, orange,
and yellow, while shorter wavelength light appears blue, indigo and violet. The gas molecules in the
atmosphere scatter, in all directions, shorter wavelength light (e.g., blue). The longer wavelength light (e.g.,
red) is largely unaffected by the atmosphere. As a result, when you look at the sky, you see the blue portion of
the sun's light being scattered by the atmosphere. If you were to look at the sky while standing on the moon,
you would see a very bright star surrounded by complete darkness. This is because the moon has no
atmosphere and so sunlight is not scattered.

You might wonder why the sky is not the color of the even shorter wavelength violet. The primary reason
for this is that our eyes are better at detecting blue light than they are at detecting violet light.

66- What color might short wavelength light appear to us?
1) green 2) blue 3) red 4) orange
67- This text describes what happens when light hits particles of different sizes. Why might the text include this
description?
1) to persuade the reader to agree with the author about how light and particles interact
2) to present evidence for different views about how light and particles interact
3) to inform the reader about how light and particles interact
4) to compare and contrast two ideas about how light and particles interact
68- If Earth had no atmosphere at all, what would the sky mostly look like?
1) It would look mostly red, with a very bright star.
2) It would look mostly violet, with a very bright star.
3) It would look mostly blue, with a very bright star.
4) It would look mostly dark, with a very bright star.
69- What is the main idea of this text?
1) Long wavelength light appears to us as red, while short wavelength light appears to us as blue.
2) The main reason why the sky looks blue is that our eyes are better at detecting blue light than light of other colors.
3) The sky appears blue because gas molecules in the atmosphere scatter the wavelength of light that appears blue to us
4) The atmosphere contains many particles and gases, mainly nitrogen and oxygen.

70- The underlined word “primary” is closest in meaning to ... .

1) principal 2) separate 3) reluctant 4) vulnerable
\ /
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